END-OF-YEAR EXAM!NATION
« 202

PRIMARY 5

MATHEMATlCS
PAPER 1
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour
Additional materials: Optical Answer Sheet (OAS)

‘| INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do se.
Follow all instructions carefully.
Answer all questions.

S e

The use of caleulators is NOT allowed.

Shade your answers in the Optical Answer Sheet (OAS) provided.
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- Questions 1 to 10 cany"1
" Foreach quest;on, four optio ive
Make your chowe (1 2,3o0r 4} and shag

Sheet.

N (20 marks):.m

1 In742.806, which digit is In the hundrediths place? -

b
: @
(3
{4)

1
(2)
(3)
(4)

Which of the following is the same as 20 mi?

21

0.22

0.02¢

0.002¢

1
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There are 30 chocolate cookies, 18 raisin cookies and 48 butter cookies.
What is the ratio of the number of chocolate coqktes o the number of
raisin cookies to the number of butter cookies?

(1) 5:3:8
(2) 3:5:8
{3) 5:3:6-
(4) 6:3:8

Sindri worked for 30 hours. He was paid $600. How much was he
paid per hour?

(1)

(3)
{4)

$5
$2
$20 ,

$50
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5 - ,Shahul had 52500 He spent $2000 What percentage of hrs money
- did he spend’? oo . R

(1)‘ e
2y 25%
(3) 80%
(4)  125%

6 There were 960 people in a concert.  60% of them were aduits. How
many aduits were there at the. concert?

(1) 384
(2) 576
(3) 588
(4) 768

3
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7 Which line in the square grid is perpendicufar to AB7?

(1

3)
(4)

DE

EF

cD

FG

F:
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e the f gure be!ow ABCD isa rectangle E is'a pointon BC BE is
 half the tength of BC DC= 20 cm and. AD=14cm. Find the area of
' tnangie BDE ’ .

A SRR -

: A )

14 cm

20 cm

(1) 35cm?

{2) 70cm?

{3) 140cm?

(4) 280 cm? '

" Which of the following triangles is an equilateral triangle?

60°

80°

110°
| /)

) (2) 3) (4)
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11

The solid below is formed by unit cubes. How many_unit cubes are

thera?

(1) 12
(2) 17
(3 18
(4 286

Which one of the following fractions is closest to 27

(1)

(2)

2

Wi

B

o
i

o e iy Npuh

\\‘ Sy
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gt i 'red :an'average of 70 marks for a Mathema;ics test and a _
. .Sosence test, She scored 68 marks for the Mathemahcs test How S
©/man marks d:d she score forthe Smenoe test’? I ’

@ 69
@ 72

(4) 138

13 Mandy had 408 { of milk. She poured all the milk into 400 bottles.
Each bottle contained the same amount of milk. How many litres of milk
did each bottle contain?

(1)  1.02
(2) 1.2
(3) 102

(4 12
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15

L 7 o 1
Noah bought 3 kg of grapes. He ate 3 of it. How many kilograms

(1)

(2)

{4)

- of grapes had he left?

Mrs Tan cooks 0.35 kg of rice every day. How many kilograms of rice
does she cook in 60 days? |

(2)
3
4

21

3.5 |

18

21
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__.ANG PR!MARY SCHOOL o

END-OF;YEAR EXAMINATION
- 2022

PRIMARY 5

" MATHEMATICS
 PAPER 1
(BOOKLET B)

Total Duration for Booklets A and B: 1 hour

INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

Write your answers in this booklet.

The use of calculators is NOT allowed.

OhWON-

Name: . ( )

Class: Primary 5 ( )

Booklet B /25

Please sign and return the examination paper the next day. Any queries
should be raised at the same time when returning paper.
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Questions 16 fo 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. ' (5 marks)

16 Find the value of 14 + {30 - 18)+6x 2.

Ans:

17 Find the value of 923 + 4. Express your answer as a decimal.

Ans:

18  Whatis the missing number in the box?

4:7=32: D

Ans:

-d
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Ans: °

20 in the figure below, QRS is a triangle. ZQSR = 10° and ZQRS = 25°,

Find £ZSQR.

10°

25°

Ans: °
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Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. {20 marks)

21 In the figure below, WXYZ is a trapezium. WX /1 ZY, £ZZWY = 95° and
ZWZY = 65°. Find ZYWX.

Ans: °

2
22 Mrs Tan had some money at first. She spent 3 of her money on a
1
watlch and § of her money on food. She had $100 left. How much

did she have at first?

Ans: §
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23

Ans: om?

24 Find the average cost of the 3 items as shown below.

N

$36 $29.50

Ans: $
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25 The massofabookis 3.08 kg. Find the total mass of 6 such books.

Ans; _ kg

26 The drink stall sold 2651 packet drinks i n January. The number of
packet drinks sold in February was 44 more than the number of packgt
drinks sold in January. How many packet drinks were sold in February?
Round your answer to the nearest ten.

Ans:

27 Mrs Singh deposits $15 000 in the bank for one year. The bank offers
an interest of 4% per year. How much will Mrs Singh have in her bank
at the end of one year?

Ans: $

n
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28 Nana stacked 10 unf cibes and glued them togeiher to form the

FrontView , = , * , SideView -

Draw the top view and the side view of the solid on the grids below.

Top View Side View
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29

in the figure below, WXYZ is a rectangle. The area of rectangle WXYZ

. 18552 cm% C and D are points on WX. E and F are points on 2Y.

Find the folal area of the shaded parts.

W

Ans: cm?

30

The average mass of Mei Mei and her cousins was 45 kg. Mei Mei's
mass was 53 kg. The average mass of her cousins was 43 kg. How
many cousins did Mei Mei have?

Ans:

End of Paper
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NANYANG PR!MARY SCHOOL

o END-OF-YEAR EXAMINATION

2022
PRIMARY 5

MATHEMATICS
PAPER 2

Duration: 1 hour 30 minutes

INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do so.
Follow ali instructions carefully.

Answer all questions. .

Write your answers in this booklet.

The use of an approved calculator is aliowed.

SR wWN -

Name: ( )

Class: Primary 5 ( | )

Parent’s Signature: Booklet A /20
Booklet B 125
Paper 2 1355
Total /100

Please sign and return the examination paper the next day. Any queries

should be raised at the same time when retuming paper.
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“Questions 1 to 5 cary 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
_ your answers in the units statéd. . (10 marks)

1 Sarah spent 1% h in the moming to complete .her Science project,

. _ .
She spent 1% h in the aftemoon to complete her Chinese project.

What was the total amount of time she spent on completing both her

Science and Chinese projects?

‘ Ans; h
|
| . 2 . .
2 The side of a dquare is 8 z cm. What is the perimeter of the square?
Ans: cm
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ANV it i et AT Srsseribs e

s table’ belqw shoWS the number of books so!d in Everygre§n
__mJanua:y to May o _

| February March Apnx ~WMay.

- Whatwas the average nimber of books soid from January to May?

Ans:

4 In the figure below, ABC is a right-angled triangle. Dis a point on AC.
£BAC = 23°, ZABC = 980° and BC =BD. Find £BDA.

B

23°

Ans: °
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Junie bought a book from ABC Bookshop. She had forgotten how
much she paid for the book. However, she remembered that the book

cost $30 when rounded to the nearest dollar. -

She remembered the following about the cost of the book:

.

- It showed 2 decimal places.
- All the digits are different.
- The digits she saw in the tenths and hundredths places are 1, 4

or5. .

How many possible costs of the book are there?

How to Improve Your

FRENCH

Ans:
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. the number. of pens Anina bought. - However; he was short of $8.70.

. Each’ penf cost $1 20 and each hxghhghter oost $2 50 How
S m" feyd "Anna haveatﬁrst'? LT e

Ans:

~The number 6f b’ighﬁghfér,s’? that Jamés wanied to buy was'the san;{ as _'

uch

3]
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The Art Museum offers tickets on discount as shown in the flyer below.

Buy 1 ticket at 10% discount

ART MUSEUM

TICKET SALE
Usual price: $16 per ticket

Buy 2 or more tickets at 20% discount

(@) MrLim bought 1 ticket. How much did he pay?

Ans:  (a) ] (1]

(b) MrTan bought 3 tickets. What was the least amount of money he
paid?

Ans: (b} {2]
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1n the square gnd beiow JK and JN are straight lines. -

o (a) -'JKand JN form two Hs_ld.e_.s of a square JKLN,;- .Complete the
i drawmg of the square JKLN : '

| (b) JK and N form wo ssdes ofa trapezium JKMN. "KM is parauei'to

JN Complete the drawmg of trapezmm JKMN such that the area .
1 L o -
ofJKMN is 1- times ofthe area ofJKLN o o » {2}
N
9 Chin Lee is 12 years older than Ming Shi. In 5 years’ time, the ratio of

Ming Shi's age to Chin Lee’s age will be 5 : 9. How old is Chin Lee
now? .

Ans: (3]
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The average of 8 numbers is 45. When 2 of the numbers are removed,
the average of the remaining numbers is 32. The diﬁerence_between
the 2 numbers that are removed is 6.

(a) Find the sum of the remaining numbers.

Ans: (a) [1]

{b) What are the 2 numbers that are removed?

Ans: (b) \ {2}
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B & B Farhana baked some cupcakes :_-5- of the ‘cupcakes were choc;olate_- o

e cupcakes and the rest were banana cupcakes.

L cupcakes ieft.

(a) How many chocolate cupcakes did éﬁé.séﬁ'j?_z -"

And: (a) 12

{b) How many cupcakes did she bake in ali?

Ans: (b) @

More papers available at www.testpapersfree.com
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, 3
12 A tank measuring 40 cm by 14 ¢cm by 18 cm was z~ﬁ!}ed with water as

shown below. All ithaa water in the tank was poured into a cubical

container of sides 20 cm.

18 cm : 20 cm

_ A L

40 cm ] 20-cm

{a) How much water was in Athe tank at first?

Ans: {(a) [2]

(b) How many more litres of water are needed to fill the cubical
container to the brim?

(b) (2]
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L

o of shuttlecocks was sold at $3 50

(@) How many shua;e;odé-@é;égl'gg wpacked?

Ans: (a) {1]

(b) Each of the shuttlecocks left unpacked was sold at the same price.
How much did each of the shuttlecocks left unpacked was sold at?

Ans: (b} (3]
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14 The figure below shows a right-angled triangle AFG and a square ABCD
overlapping each other. ADGis a straightline. ZAGF=90°,DC=GF

and EC = 7 cm. The length of AB is twice the length of EC.
Triangle AFG has the same area as square ABCD.

A B
D

E7cm c
G F

(8) What is the area of square ABCD?

Ans:  (a) (2]

(b) Find the shaded area DEFG.

Ans:  (b) 2]

11
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15 In the figure below, NORT is & paralielogram. P is a point on NQ and
. PTSis a straightline. - «NTP =33°, ZPNT =105°and £TRS =21°.

S

(a) Find ZRST.

Ans: {(a) {31

(b) Circle the words that describe triangle RTS correctly in the
following statement.

Triangle RTS { is / isnot ) an isosceles triangle because
RT { is [ is not ) equal to ST.

M

12
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16

2
Cindy had a piece of ribbon. She used 7 of the ribbon to make 15

small identical bows and 7 large identical bows. The length of ribbon

used fqr 3 large bows was the same as the length of ribbon used for 5

~ small bows.

{a) How many large bows can she make with the same length of ribbon
used for 15 small bows?

Ans: (a) 1]

3
(b} How many small bows can she make with o of the remaining

ribbon?

Ans: (b) (4]

13

More papers available at www.testpapersfree.com

BP-600



BRI i B u i w v
o Figure1  Figure2

}

0 or
000

ag

Figure 3

0

ol

9)

)

2.0

OA Y ()

\.J

Q)

()

0o oo o oo
' _Figure 4

__ Figure

Number of circles

16

Number of squarés

12

20

Total number of circles
and squares

10

21

36

(a) Find the number of circles in Figure 8.

14

Ans:
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(b} Which figure in the pattern has 930 squares?

(b) Figure —_— 2

(c) Find the total number of circles and squares in Figure 15.

End of Paper

15
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m»wmm mmmummm
What I the uﬁédhmdwﬂmhhwm
‘ol coohies 1o ufmmms—z o

{. s %600 230: = $600 T 043
Sl ) s: stpes
o 1e 2000 mt @ s * $20
LoBeszt. T U oy = (p8kioon) R : ' L : (2
@y ovomt
- = 0-02 &
{2)
' 2
5 Shatal hed $3500. He spem SX00, What pevcariags of his money 7 Wnich fing in e aquars grid Is perpandicular bs AB?
did he spord?
Ero -3
1) 20% 500 221 o} F= LG‘
z 8o
20 25% —Ia—a N
3)  80%
@ B h
Wy 125% 5
€)) .
& Thers warm 380 pacple in 8 concert. 808 of thern wara adudis.  How E
:mnysd‘_‘_:_nsmhnalﬂnwnm?
(O
@ 58 o =2 A0 ay e
40 = 100
3 388 1% 21 ) EF
=84 .
¢y 768 ® co {1}
% - 94 460
4y FG
= g4 rto%b
3 qb kb
= 576 (3}
3
)
X6
il P51
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] In the figure below, ABCD i3 8 rectangle, £l e pomton BC. BE iy
ba¥ $ho length of BT, DC =20 cmand AD » 14 cm.  Find the area of

iangls BDE.

A ]
Henf| - o

D c

2om
logh of -BE = 1432
i ot s =1
(2) 70y
B teocr hea & ABDE ZTITOFT
W 200w > on7
=70 (3)

2 Which of the folkewing bianghos is an aguitstera! tiangh?

{\ A Y
"y n
& U

12 Jasmine scorsd an verage of 70 marks for 8 Muthematics test and »
Science me.  Sho scored 68 marks kor the Mathormutics test.  Mow
many marks dd she score for e Scence test?

Tolal =» 70%2
o s < o
) 89 o - 68 = 72
(3 72
3
(4} 1338 ( )

13 Mandy hod 408 ¢ of mik. She pournd @) the miX int 400 bomles.
Each bottn contamed the same amoin of mit_ How many fres of mik

did each bottle contain?
do§ = Moo T Ao % I = 100
{1} o2 > laz % oo
2 1z s1.02
3 w2
4 12
{4} C’}

BP-604

W The aold below is formmsd by unit cubes, How many unl subus are
there?

11"

14

£
@
3
4

12

17

18

a43+5 =11

(3)

Wrich one of the following fracsions is coses! Ip 27

(U

@)

3

(%)

aifoee 5%
ditfoens 2
atfaene —2— (q_)
T

7 H
Noahbmmskucforam Healaaolix. How many kilegroms
of gropax hag ho 1eR7?

[U)

@)

3

{83

Mrs Tan cocks 835 kg of rice avery day. How many kilograms ef rics

does she cook in B0 days?
035 *b0 = 035 Klo X
1 22 = 3.5 %b
@) 35 RISV
2 18
i
w2 ()
3
35
¥ b
21 -0
$
P!
J
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Cluas&mu Bbvzounyimam’ach. wmayour .mmmspaezs

A:‘Zl"

is mhwmm«hmm

4:7=32: D

Rz @ ZSar = W0 -To "~ 25
7T%8 = 5¢ {ons) > -0
= us” (ans)
ans: 56 Ae B
1 2
Questions 21 to 30 cany 2 morks aach. Show your working ciearly and wrile 22 Wnat s the volums of the cuboid shown bolbow?

yaur answers i tha spaces provided,  For questions which require units, give
your snswers [n the unkis stated. {20 marks)

21 Inthe figure betow, WXYZ is & Wrapazium. WX/ ZY, LZWY =95 and

LWIY =858, Find LYWX
w x
85 -
A0 %30 %70 =3 j20p0 %10
/ | =88 000 o’ (om)
y
z Y
ag + 65 = 0"
- . Ans: __ 84 00O omd
ZYwF = 1B ~Ko
- -
* 20 {ans) 24 Find the average cost of the 3 Aerns as shown beiow.
[N
ARS: _ 29 - 3% .
2950
ﬁ@ e
22 Mys Tan hag some money ot first. Sha spem?; of her money on a & -‘-9-—.._._2‘“
waw\and;;ofhe.' money or food.  Sno had $100 left.  How much $38 $29.50 36
EMPT
did she have 2t fist? - X $29.50 % &ha g
o 3 % -3 350 1S Todgy Y $3¢ ¥ §34-50 + IA2-50 5
2 - 2.3 : - < -8
f-5-3 = | 1S "8 = $150 (a5} 2 103 %
s 135' 108 + 3 = 3 (oa}
e
7
2 o S
15 -3 slco /
oo steewd / Ang: $_ 34
7 - - Ang: 8 2o
Ans. & §:32)

: ¥

e
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o

3
&~

AN
v.n,*

.

-l
__Ju\l
g

v
fols

% Tremassofabookis 305 kg, Find the lotal mass of § such books, 28 Narm stacked 10 wilt cubes and ghued them together o form the sotid
. below. X
of 3-08 %6 5 13.48 fons)
42 . ., TopView

Ane: 1e-48 xg : v - .

28 n&.dﬁmmlmumnmambkm, The number of AN T
pmldmnsddMFsm:ymMmhmhmbanfMd . LT T T
drinks soid I Jamsry, Mmymmbmm FromtView . = | °  SkdoVew - .

Round your answer % the necrest ten,

25 + by = qu;’ Dlmdwbﬁmmmasx!emuwoimasoﬂdcnmprmbm.

2 3100 (ons)

Ans: 270 ) e s e e e L I I TN

- - }‘v . . L N T )

27 M:Singhdaposbsﬁooohmbanxbrmwar. The bk offers. . e T i. MR
an interest of A% por yoar. How much wit M Singh have in ber bank M P N Rl
B!!homdo!mw : * s d -

0ok > %5 oo
1% -» $isood < iod
= $is0
4 - nsory
2 $go0
3560 + 35000 = ¥ e (on

Ans: § I e -

2% lnhe!sgwebc:w.wXYZisnremngle, The ares of roctangis WXYZ
5 552 cm. C ard D are points o WX, £ and F are pointy on 2V,
Fing tho totol area of the shaded parts.

w_ c 4 D

Ans: W am -

o} Thoavemosmaseo!Meindmrmmmaﬁko, Mol Mel's
-'7\8”~WH&534&9-» The P8 Mess ol s cousin: A3 Yeg-How.
many cousing id Mei Mei Fove?
§3-45:=8
S-47 22

+Y 34 {ons;

KN

0

Ed of Papst
: fg &
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-'-”_qmmmsmnyzmmem smwwmnmanyamm,_»
" yolir answers in the spacas provided: Formnswﬂdzmmm gve -
" your apswes I the s i, O o).

9 30 compe S k.

A Sarzhspusszbhﬁn
: ‘Shuwna—hnboamnhmﬂmm%mm

"‘.Wwammwmmamsmwmmmmmwfi
.Sdamnndﬁmpmkc&? '

ﬁ;-!rho _2?; @

. ABCuatiglﬁw)adbtmii,i-_Qb_a'ﬁolﬁ{pﬁAc,

K3 mgs__gniasqmc‘hag.m What is the ptiimoter of he squam?

(2xy = 252 (o)

Laen = i80" -390~ 33
=47 |
* e

L£60A iR ~41°

: =" (o)
Ans: 25% o Ans: n -

5 Jumse bought a bock fm ABC Book She had Jorpotten how Fot questions & o 17, show your working deady apd write your enswars in the
much she paki for the bool.  However, she romembared $hat ths book spaces provided,  The number of marks avallable ts shown in brackets { jat
cost $30 when rounded 1o the peprest dofiat, tha and ol aach question or part-question. {48 rmarks)

She remernbered the folowing about the cost of ihe book:
3 Anns ant Jambs had the same amew of thoney ot st Asina bought'

~ It showsd 2 decimal placas., some pens and had $4.30 lo.  Jumes wamed {o buy highlighters only,

- Alithe dihs are different. The numbes of ghfightars that Jasoms warted o buy wos the sama a9

- The dighs she zaw In the torths end hundrodths places are 1, 4 tha tumber of pens Anna boughl. However, he was shorl of $8.70.

of 5. Each pen cost $1.20 and each highlightes cost $2.50. How much
money did Anns have at frst?

How many postibie eosts of tha ook are thens?

$4.30+ $370 ¢ §n
Haw w Iagvove Your L)m'#vm

P b of highigniers

LI .
Towe 3350130 = ¥130

| bdffoene erwen |
Jormiee . i
N | sgwgmer a1 e

s 3307 10!

$¥-51 =~ %30 $120 Ko = 3>
$39-584 2 13 $174 39307 $1- 30 (ans)
$3%-1% = Y30 i

%3615 = %30

$3-31 =2 %3

13685 =2 130

Ang: 6 — Ans: ;_‘3_‘&-59______. <)
3 ‘ 90
3 g
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7 The Art Museun olfers tickets on discount 23 shawn i the fiyer below.

- ART MUSEUM
@ TICKET SALE

Unusa! price: $30 per ticket

Buy 1 ticked af 10%, discourt

Buy 2 or mors ickats 8t 20% disoount

{8) M Limbought 1 ticket  How much gid ho pay? -
00 ~—{0 = 30

B 13K T 31440 (o)

A @) %80

{b} MrTan bought 3 lickets.  Wrat was tha feast amount of money he
paid?
ibo-30: 8o
B oy bz w30
=

31380 % 3 7 $35.40 (onn

40

The avorage of B sumbors i 45, 'Whaa 2 of the numbers ans remoyed,

the pe ©f the ') bars ia 32 The difference batween
the 2 mumbars that are removed 5 8

{a) Find the num of the remsining numbers.
8-2%%
33%46 F 192 Lens)

(b} What e the 2 numbers that are removex!7

45%38 = 3¢p

Mo ~ig2 0 J§2 —% am of e 2 aumbers
pmeved .

b2 -6 = ipd
a4 2. 84

etz FT faan

BP-608

3 In e square grid bakow, JK and JN are streight finea,

(&) JK 2nd N form two sidns of 2 square AN, Complete the
drawing of the squars JIKUN. &3

B} K xnd JN Form two sides of a tapazhen JKVN. ¥ is paraliel 1o
IN. Complate the

P

ing of trapszium JKMN such that e arey

eummn% timee of the area of IAN, 2}
X
=]
1)
Ny
NS
~

§  ChinlLee Is 12 ysars okser than Ming SHL in § years' tme, the ratio of
»SngSN’sapelnChinLaa‘sngamnbegro. How old i Chin Lee
noa?

a-5: 4
4 um¥S 202
jousd 20233y
: 3
q wy x 3%9
3! 22 Kl
N-5%5 =32 (aps) =TT e B
6
1

11 Famans baked somu Saﬂmx wera nhocolate

apcakno and the st worg banana cupcakes. She sofd é of g
7
2018 2

chotolste cupcakes and 51 banana cupcakes. Shewmma; of tha

cupcakes ol

{3} How many choculste tupcskes gic shp sali?

= gorigy —3 & . -
LL?:::-!.:{:‘I.J”UT::’;;':»;{!::'i‘ 3

™ wh Sod

I3 unit) anmae

v

™y
% = ‘o e

M~ 3 2)f -3 bergnas lePY

TRy = 32 & onite : 3};'} .
pLENTIRS: ()
$Y enitg z oy //2

1 on = ST "
2y Shm@ 2y

(b} How many cupeakes di! she bake in at?
RESEE
35w @ 3338

tes o)

pny (5 ics 2

=
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Ammsmwmbyﬂcmbymmnu %%Wu
,“:shcwnhdw Alhwa\umhhnkmpm:dnhaaﬂal
eon!nmofsldsszom

26om

| {8); How nuch wetnr wes In the tank at frst?

,’;;40 %1 %182 Woon® (ang)

ans: m) 150 an’ 1)
{b) How many more Bires of waler ars needsd to M the cublcal
container 1 the bim?

20 3220 %30 * Baco

2000 ~ ISEG.  BYo

440 am’ = o-ag 2 (am)

oy _ o4 o

14

The Spure below shows a rght-angled triangle AFG und 3 squars ABCD
overiapping each oiher. ADG /s 3 siraigit fine.  ZAGF = 80", DC = GF
and EC = 7 em. The length of AB s twice the length of EC.
Triangle AFG has the same orea as squame ABCO.

e A B

G AR
{a) What is the ares of square ABCO?
Tr2=1y
1e%14c (86 e’ (an)

Ane foy_ 1dom’ g
(b} Find the shaded ama DEFG.

Aea o AAE > TXTEIG
= 89

i% -h3 3 137 em? fom)

Ans: (o) 147 _cgz’ 2

RN

KmYmmmuwm Hapu:bdlm

" manybags of 7 shuttiBeocks a3 posiitis and had o

tnpacked. He 96 o¥ tis shutiiecocks ang rocsive

'dshmiemdtsmmd&!s&

(a) How many Mowdnm hn unpwdced?

1300 £ % to?t&'%

shuﬁwoeks' into a8’
msbmﬂacochsan
dm Eachbag

4

P, R S

) Eachof ta shuitfiecocks 168 unpacked wes &
How much did sach of the shuttiecocks et

1028 X $3-50 ° $3598

atthe sarme price.
ed was sokd ar? .

$3608 - 42598 = $i0

$H07 Y = ¢ a.ppfan)

Ans: (b)

3250 ]

15

in the figure bolow, NORT s a paralisiogram, P

is & point on NQ andt

PTSIs 2 siraightling.  ZNTP = 33, LPNY = 105" and LTRS = 24°,

N P
W
e -
1 i
wt” 2

£
{8) Find ZRST.
ZPTR = j0"—1m6 - 33
* 42t

18g -3 *
133°

LSTR

I

ZEST= 1k -138 "~
0" (oend)

Ans: (8)

f

—_2  0®

(b) Circia the words Yrat desaide tiangle RTS comectly in the

following stetemnent.

Teangle RTS { U] 1 s wot ) an lsosveles Wangle bocauss |

RT { {5}/ s nol } equs! to ST.

;
g
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18 Cindy had 8 pleco of dbon. %w;dhrbbmbmm
-3mak iantical bows end 7 Jorge Kenticai bows,  Tho length of rbbon
und!ori)l-tpobunmrhnmumabmbdmbmmwbrs
el bows,

{8) mem«ommmmm%um
used £¢ 15 emal bows?-
BsES5=3
3x349 f{aw)

L .
. A (a) L____ 7]

3
®) mmmmmmmmﬁ of the remalning
Mdbon?

Oy |
IR RARERENS NS
[E—— S

Bsmat ond ?I
A, Scndl
‘R =R DS ey + 7 4
5 1 lag

=74 kge s T lerge
-7 it w3e

Ty by
4

3.

HFonm

: o tage
{4 xs) smay  AE B = "

3 W s (g"J

1",‘ b} Which Bpure in ha patiom hag 930 squoma?

30 335 =430
{ant}

© Fgue 30 g

15 Mhm:mu{mwnmmwus_
Y -3 15215 - N5

NuereS 3 gxiy 2 240

Totot 2 225 3 284G T 445 fgm)

£nd of Pacex

17 Hmmhmmmfgwwhnmmd&daushmbew.
A

O
A0
OQ EJDD <
n ja} R
qu 50 [0
DQD ju)s] OD Qo jue] DDLDCGEH;!OD
Figur 1 Fiogurs 2 Fgurs 3 Figwe 4
Figure 1 2 3 4
Numbor of cirttes TN g 18
1x)%3 any 3433 4584 %
Numnber of aqunoes 2 8 12 20
arl 3R and sxit
Total pumber of eirndes
ang 3 10 21 ( k]

{8) Find the mumber of circles in Figure 8,

PR & =i} (o)

ans (8) 8% 4y

14

gd o
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